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(1) Ph. PR EPES
N £ % 2
X 9 = =
| AR | SR B | o | AVEE |
S ER
T F E 21 21 - 448 9 184 122 133 130
2 E 21 21 - 454 9 195 122 128 125
7 & ™ 8 8 - 142 4 53 34 51 48
sh B ™ 4 4 - 67 2 34 15 16 16
NN F ™ 5 5 - 141 3 64 38 36 36
£ A& @ 1 1 - 13 - 5 4 4 4
L D ™ 1 1 - 23 - 9 8 6 6
DM B 1 1 - 23 - 9 8 6 6
t F 1 1 - 45 - 21 15 9 9
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5 i | whHeEp | s | chess
X B | SKR
1,697 1,133 564 13 521 362 801 797 4
1,704 1,135 569 14 556 356 778 774 4
513 345 168 5 134 97 277 273 4
275 177 98 3 112 59 101 101 -
505 344 161 6 181 101 217 217 -
47 29 18 - 18 8 21 21 -
90 67 23 - 26 18 46 46 -
94 59 35 - 24 24 46 46 -
180 114 66 - 61 49 70 70 -
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